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Sample Size Calculator

Instructions: Complete the fields in green with the necessary information. Then read through the steps
below to attain your final sample size.

“Describes the level of wicericinty i 1 sample miean o7 prevalnce as an esiimat of e populdiion mean o7

Level of Confidence Measure  1.96 | , & 195 (or 95% confience level)
The expcted i of e conidrce tarval. T sl the marginof rrer, T Trger e sample 75
Margin of Error MMOE) 0,05 | needed Recommended value: 0.05 for sml saseie leel, e <10, asmalr MOE of 0.020r 001 5
appropriate)
The ctmatd prevalnce f e Ftors i e gt papilaion. Vel locst o 3052 are e ok
Baseline levels of the indicators 0.5 | conservtve. Recommended salue - 0.5 §fno revious data on populaion, e val closest o 0.5 from
previowsdata
" Decerites th o of srmplng ficiney e 0 ing @ compl e dcign. T vaie 10 gproprie
Design effect @ef) 15 | o cimpie random samples. Recommended value: 1.5 (for most STEPS surveys)
The aipated recponce rate. Recommanded alue: eter recponce ra from previow atonal abnazondl
Expected Response Rate 08 | sl urveys, el e 0.8 as anssimaze
The runbr o ag-cex grouge for whic ez will e calralzed T age-cex et are e or
Number of agelsex Estimates  § | et ctascregionsichan muliply the umber ofage-cex groups by the mumber of st regions clanc o

i the total number of estimates desired.

Population Size __|FPC Check:
Males initial n =10% 2

1829 1 yes

3044 2 yes

4559 3 yes

6069 4 yes

Females

1829 5 yes

3044 3 yes

4559 7 yes

6069 B yes

Step1: Initial calculation:
38416% (05 *(1-
005 *

Step2:  Complete the population table to the left to check if the Finite Population
Correction (FPC) can be applied. If the inital n calculated above is 10%
or more of the size of the majority of the age groups, then the FPC can be
applied. If the FPC can be applied, continue calculating your sample size
on the FPC worksheet. If the FPC cannot be applied continue to Step 3

Multiply by the design effect and number of age-sex estimat

n= 38416 * 15 * 8 = 4609.92

Step4:  Adjust for expected non-response to get your final sample size:

n= 460092 / 08 = [ 57624
FINAL SAMPLE SIZE





